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Materials 
2 skeins Universe color 18 
4 skeins Diablo color 38 
 
Circular needle 32” (80 cm)/ size 8 (5 mm) 
2 m​arkers 
 
Yarn quality 
Universe​, Hobbii 
98% Premium acrylic, 2% polyester/  
3.5 oz (100 g) = 505 yds (462 meter) 
Diablo​, Hobbii 
40% acrylic, 30% mohair, 30% polyamide/ 
0.9 oz (25 g) = 246 yds (225 meter) 
 
Buy the yarn here 
http://shop.hobbii.com/spinel-shawl  
 
 
 
 
 
 
 
 
 
 

Gauge 
17 sts and 34 rows on 4” (10 cm) in 
garter st using 1 strand of each quality. 
 
Measurements 
Width approx. 63” (160 cm) 
Length approx. 32½” (83 cm) 
 
Pattern information 
Knit with 1 strand of each quality. 
The shawl is knit from the top down. 
Start with a little square in the back of 
the neck. Increase on each side and in 
the middle. 
 
Explanation 
Inc 1 st: Put the needle under the 
chain between the sts and knit it so 
small holes are made. 
 
Hashtags for social media 
#hobbiidesign #hobbiispinel 

 

   

 
 
Happy knitting! 
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Pattern 
All of the shawl is knit using 1 strand of each quality, including the tassel. 
 
Cast on with a square 
Begin with a little square: Cast on 3 sts and knit 8 rows. Don’t turn, but knit up 3 sts along 
the left side = 6 sts. Don’t turn, but knit up 3 sts along the left side = 9 sts. 
 
Continue with increases 
1st row, wrong side:​ k9. 
2nd row, right side: ​k3, inc 1, k1, inc 1, k1, inc 1, k1, inc 1, k3 = 4 sts increased = 13 sts. 
3rd row:​ k6, place a marker before the center st, k1, place a marker after the center st, k6. 
4th row:​ k3, inc 1, k3, inc 1, k1 (center st), inc 1, k3, inc 1, k3 = 17 sts. 
5th row: ​k17. 
6th row: ​k3, inc 1, k5, inc 1, k1 (center st), inc 1, k5, inc 1, k3 = 21 sts. 
7th row: ​k21. 
8th row:​ k3, inc 1, k7, inc 1, k1 (center st), inc 1, k7, inc 1, k3 = 25 sts. 
9th row:​ k25. 
10th row: ​k3, inc 1, k9, inc 1, k1 (center st), inc 1, k9, inc 1, k3 = 29 sts. 
11th row: ​ k29. 
 
Rep this inc with 4 sts on every other row until the shawl measures approx. 32½” (83 cm) in 
height at the center st. 
Cast off loosely while making increases like before. 
 
Tassel 
Approx. 0.3-0.35 oz. (8-10 g) of yarn is used for the tassel. 
Take a piece of card board with a width of approx. 2.8” (7 cm). Wind the yarn around the 
card board to a fitting thickness. 
Take a piece of yarn of approx. 10” (25 cm) and tie it around the yarn on one of the sides of 
the top of the card board and tie a few knots, not too tightly. The knot is tightened later. 
Remove the card board. Take a piece of yarn and wind around the yarn about ½” from the 
knot and tie a few knots. Pull in the ends and hide in the tassel. Cut open in the opposite 
end from the knot. 
Loosen the knot in the top and tie a few knots tightly around the yarn. 
Sew the tassel to the tip of the shawl. 
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